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1 1
If x° + — = 5,then x°? + —; =7

X X
2)2025 b)2255 €)2525 d)2552
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If x*-83x2+1=0, then a value of x*-x> can be:
gfz x*-83x2+1=0, ar x>-x3 &7 77 g
(a) 739 (b) 758 (¢)737 (d) 756
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V5 ++3 .. x0+4x°+2x3 +4x+1

= =?
If x N3 J_flndthevalueuf PRI :

5, 9.3
ﬂﬁx—\{_Jﬂr % r—r‘r"" 64+ 4x°+2x +4I+1$I'TI'I?-I'EF~!?IT%?

4x°+5x3+4x
(a)562/192 (b) 627/124

(c) 738/253 (d)485/67
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L. = — 3 1
If x* —29x + 199 = 0, then (x — 11) G103

a)144+/5 b)96+/5 c)121/5 d)None

01:00
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2 _ 5 L
If x* +13x + 39 = 0, then (x + 8) r8)s

2)393 b)396 ¢)392 d)394

01:00
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b 5 4 3 2
1.
If x =3+2V2, then the value of e i o IS

x3

a)138 b) 139 c)116 d) 162
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If x4 +—_727 then x3 — — =7

x3

(a) 125 (b) 140 () 155 (d) 170
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5a+i=5 then 9a2 + — =?
25a?
gfe 5a+—_53’ra‘r 9a? 1 —— =7
51 29 52 39
(@) = (b) = () - (d) =
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If3x+——5 then 8x3 +ﬁ=?
gfe 3x+——53’ra’rsx +H=
946 820 730 973
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If 24+/3x3 + 2V/2y? = (2V/3x +V2y) (Ax? + Bxy + Cy*)then(24 + V6B — () is equal to:

T 24/3x3 + 2V2y3 = (2V3x + V2y) (Ax% + Bxy + Cy?) &, @Y (24 + V6B — C) S« &:
A) 10 B) 14 C) 6 D) 8

01:00
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If 40/5x% — 3V3y? = (2v/5x — V3y) X (Ax? + Bxy + Cy?), then what is the value of VBZ + CZ — 4?
afg 40v/5x3 — 3v3y? = (2V5x — V3y) X (Ax? + Bxy + Cy?) § @Y VBZ + C? — A ST AT FAT &7
A)I1 B)7 C)8 D)9

01:00
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a3 (b2 —c2)+b3 (CZ —az) +c3 (a2 —bz)

—"

a%2(b—c)+b%(c—a)+c%(a-b) '
a) ab+bc+ca b) 1

¢) 0 d) atb+c

01:00
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a3(b+c) | b3(cta) | c’(a+b) 5
(a=b)(a—c) = (b—c)(b—a) (c—a)(c=b)
a) abc b) a+b+c

¢) ab+bc+ca d)3

01:00
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a(b—c)> = b(c—a)> = c(a-b)? 5
(c—a)(a=b) = (a=b)(b—c)  (b—c)(c—a)
a) at+b+c b) 3
¢) aZ + b% + c? d) abc

01:00
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| | 1 | 1 | L —f)
i atb+c=0, then (a+b)(b+c) ' (a+c)(b+a) & (c+a)(c+b) -
a) 1 b)0 ¢)-1 d) -2

01:00
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El2 bE CZ
Fb+e= =7
If at+b+c=0, then = e T + g
a) () b)1 c)3 d) 2

01:00
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o 2  b? 2 )
il a+b+c=0, then 2a2+bc = 2b2+ca Tt 2cZ+ab
a) () b)1 c)3 d) 2

01:00
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2 2 2
If a+b+c=0, then ——~— 2> ¢ —7
(a—b)2+(b—c)?+(c—a)?
a) 1 b) 3 )3 d) 0

01:00
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